RETFAN &9tk =ZAFoEEl =3k o1

1. &2 o, b5 I L2 THICHZIAYD. 5 L1: FARS, FTRE 42823 L, b2 2MaHIE Tollo X 5 /it
BRI O 2 K HICil T 2 & Flbidmd B lbice k. (SH1335%, Ath245, Bik3sr, Cikdsr)
Bl1 XY:YZ=a:b = XY@, YZIK@EEZVNL.
fl2 PQ:QR=c:d = PQIZA, QRICA r#EX N2,
#l3 ST:TU=e:f = STIKY, TUILY LEE0N3.

(1) BC//DE (2)  ZABC = ZAED

ZACB = ZADC = 90°
AB=25, BC=20, CA=15

(3) DE// AB (4)
AB=12, BC=10, CA =16

A
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2. FfEro, b3 I LEATHICHSIAD. 5 L1 FART, FTRE 2823 L, b2 2MaHIE TolO X 5 1wt
BRI 0D % X I ICilT 2 &, T b BB k. (SHk1340%, Afk29, B3 7, C#kdr)
#l1 XY:YZ=a:b = XY@, YZIZ@OQLEEZVND.

#fl2 PQ:QR=c:d = PQIA, QRICA tEXVLNZ,
#l3 ST:TU=e:f = ST, TUKY tEZVND.

(1) BC//DE (2) ZABC = ZCDE

(3) DE//CA (4)  ZABC = /BDC = 90°
AB=21,BC=18, CA=15 AB=0.75,BC=1, CA=125
A A
E
D
B D C B C
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RETAM &9tk ZAFOHEEl =3kt 01 BERES

1. FfFE»o, b3l L2 TRICHEZRAD. ilF L X FARS, FTRS 4823 L, b 2HMaHIE Toflo X 5 )i
BRI O 2 K HICil T 2 & Flbidmd B lbice k. (SH1335%, Ath245, Bik3sr, Cikdsr)
Bl XY:YZ=a:b = XY@, YZIC@EEZVNSD.
fl2 PQ:QR=c:d = PQIZA, QRICA r#EX N2,
B3 ST:TU=e:f = STV, TUKY t¢HEwinz.

(1) BC//DE (2)  ZABC = ZAED

* o< DiRL DM

* ILEMREL JHEE A
AABC «> AAED

AABC «» AADE

(4) ZACB = ZADC = 90°

(3) DE// AB
AB=25, BC=20, CA=15

AB=12, BC=10, CA =16

* 0> < DiRUL DR
AABC «» AACD «> ACBD
30D =MAIBHMLTH B Z LITHER.

* WWBMEEL HEEC
ACAB «» ACDE

AB:BC:CA=12:10:16=6:5:8
AB:BC:CA=25:20:15=5:4:3

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. FfEro, b3 I LEATHICHSIAD. 5 L1 FART, FTRE 2823 L, b2 2MaHIE TolO X 5 1wt
BRI 0D % X I ICilT 2 &, T b BB k. (SHk1340%, Afk29, B3 7, C#kdr)
#l1 XY:YZ=a:b = XY@, YZIZ@OQLEEZVND.

#fl2 PQ:QR=c:d = PQIA, QRICA tEXVLNZ,
#l3 ST:TU=e:f = ST, TUKY tEZVND.

(1) BC//DE (2) ZABC = ZCDE

* Uo < DiRL DM

* WBMAEL HEEA
ACAB «» ACED

AABC «»» AADE

(4) ZABC = ZBDC = 90°

(3) DE/ CA
AB=07,BC=1, CA=1.25

AB=21,BC=18, CA=15

B

* > < DiRL DAY
AABC «» AADB «> ABDC
3ODZATEHBHLTH 5 Z LITHER.

* ILBMEEL HEEB
ABCA «> ABDE

AB:BC:CA=21:18:15=7:6:5
AB:BC:CA=125:1:0.75=5:4:3

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

